y [pb/GeV]

d’c/dp_d

Ratio to CMS

10%°

T

=

o
~

T TT]TTT] |||||_|Y| IIIIII]YI IIIIII]YI IIIIII]YI IIIIII]YI IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIIIIHYI IIIII'.

107t
1072
107
107

1N

[EEY

0.5

_;I

IIIII||Y| IIIII||Y| [T

7000 GeV pp Jet

—a— Pythia 8.180 default

----- ¢ Sherpa 2.2.9 default ]

Jet P, (NSD, 0<|y|<0.5)

Ll |IIIIII| IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIHII IIIIIlIII IIIIIlIII IIIII\III IIIII\III IIIII\III IIIII\III_LU)

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

=



	Contents
	Page 1


